BB DB L R RHHE (FR295E)

AU (23] XT3 AEH FasvHR BR &t
B EHE L L L L m® kWh
E_L ﬁt H_-', {?ﬁﬁ( kg-CO,/L kg-CO,/L kg-CO,/L kg-CO,/L kg-CO,/kg kg-CO,/kwh
= kg-CO, kg-CO, kg-CO, kg-CO, kg-CO, kg-CO, kg—CO,
HY> (23] XT3 AEH FasvHR BR &t
z ERE 12,971 763 0 0 128 440,454
= HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
= 30,118 1,998 0 0 384 244,451 276,951
- A %l KTk AEH FOsRUHR ER &&t
*E ERAE 2,993 0 2,190 19,900 2,697 298,782
E HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
i = 6,949 0 5,450 53,929 8,091 165,824 240,243
ié AU % §Tih A FONUHR E5 &5t
& ERAE 3,067 5,766 25,778 0 287 205,031
% HEHRH 2.322 2,619 2.489 2.710 3.000 0.555
=5 = 7,121 15,101 64,161 0 861 113,792 201,036
e AU (23] XT38 AEH FasUHR B &t
jﬁ ERE 906 0 3,105 69,000 46 993,251
= HEHRE 2.322 2619 2.489 2.710 3.000 0.555
* L2 2,103 0 7,728 186,990 138 551,254 748,213
. AU (23] XT38 AEH FasRUHR B &t
* FERE 0 0 0 0 23 17,097
E HEHRE 2.322 2619 2.489 2.710 3.000 0.555
i = 0 0 0 0 69 9,488 9,557
r AU (23] KT AEH FasRUHR BR &t
T ERE 2,012 0 0 0 1 2,518,194
Zﬁf HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
= 4,671 0 0 0 33 1,397,597 1,402,301
" HIIY 23t KTt AEH FasvHR BR &&t
5 ERE 282 0 33,115 0 28,293 1,484,615
# HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
. 2 654 0 82,423 0 84,879 823,961 991,917
it AU i XT3 AEfH FasvHR BR a5t
§ ERE 194 0 0 56,000 212 515457
E HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
B = 450 0 0 151,760 636 286,078 438,924
#t AU i XT3 AEH FasvHR BR &5t
§ ERE 891 0 0 0 28 1,315,388
,]."?; B RE 2.322 2619 2.489 2.710 3.000 0.555
B HHE 2,068 0 0 0 84 730,040 732,192
" AU L3 XT3 AEH FasvHR BR At
%3] ERE 10,952 4,904 933 0 1,636 157,630
ﬁﬁ e R 2.322 2.619 2.489 2.710 3.000 0.555
: HHE 25,430 12,843 2,322 0 4,908 87,484 132,987
@ AV B R AEH TasUAHR BR &5t
B ERE 34,268 11,433 65,121 144,900 33,361 7,945,899
E HEH R 2.322 2.619 2.489 2.710 3.000 0.555
- HHE 79,564 29,942 162,084 392,679 100,083 4,409,969 5,174,321




